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<7Fargh>

#include<>

#define NN 256

#define

void func(char in[],char kakucyou[]) {
int all_count;

int i;
[ G J=e;
while (in[all_count] != '.") {

all count++;

}

all count++;

for (i = @; 1 < 3; i++) {
kakucyou[i] = in[all_count + i];

}
kakucyoulkN-1] = ‘[ (4) _';
}

int main() {

char IN[NN];
char KAKU[KN];
int all_count;
int i;

scanf("%s",[__(5) s

printf(" 7 7 A )V4 @ %s¥n”, IN);
printf("JLET : %s¥n", KAKU);

return ©;
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#include <stdio.h>
#define N 10
int call_num;

float funcl(int, int[]);
int func2(int[]);

int main() {
int AA[N]
int BB[N]

1 10,9,8,7,6,5,4,3,2,1 };
{ 513J215)554J6)16)3)2 };

float calil, cal2;
call num = 9;

call
cal2

funcl(1l, AA);
funcl(2, BB);

printf("¥n 7 —% 1 DM 2 : 4. 1f¥n", call);
printf ("7 —% 2 OWLH 2 : %.1f¥n", cal2);

return 9;

float funcl(int mode_num, int W[]) {
int sum;
sum = func2(W);
printf("7 —%%d DA 1 : %d¥n", call_num + 1, sum);
call num++;
if (mode_num % 2 == 0) {
return (float)(sum / N);

}
else {

return (float)sum / N;
}

int func2(int WW[]) {
int i, sum;
sum = WW[O];
for (1 = 1; 1 < N; i++) {
sum += WW[i];
}

return sum;
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